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8. & E 2008 (REEFE 2R A% -dtE xm - BiE EH ) —hB 38.59 7 2:19.60
448 F—ikE &g B
1. 88 K 200k (FE EE - =F -RE W2z - #Bx ) — % 35.18 £H#3
2. @ W 200 (GEE BA -HN OKEE -RE OBE 0 O-EHAE HE ) — e 35. 66 6 2:10.91
3. ®H = 200m% (R B4 - EAHER-B @K 22 -FE OB\ ) — e 33.26 5 2:00.16
4. #ZE)| 200k (IMR BiE O -EM XB 0 O-HE RX O -BE O OE ) — e 32. 21 1 1:54.35
5.5 B 2004 (Bl %% -m@th Bl -BR OX— -FE BN ) —he 31.08 3 1:56.63
6. F 200%% (AREEEE - /FE ORI - AR OEB O - kE O ER ) — 28. 91 2 1:55.28
1. B B 200 (rsh A& - WA S -k B— - AAREE ) —he 30. 88 4 1:59. 21
8. #FrLL 200%% ( . - . ) —h3 £
548 F—ikE EE B
1. % 9 2005% (s =k -4 E—  -&2h BA - HK Bz ) —he 37.49 6 2:14.76
2. K % 200%% (SLLE#— -HE TX O O-ZIE B4 -RE OEE ) — e 38. 84 7  2:25.65
3. &/ 200m% ( . . . ) —fg £k
4. & M@ 200 (EAX BsA  -&®: 0 OBK O -2H ORE - 2 ) — % 36. 39 2 2:05.42
5. % #0 200m% (KET Ef -A%X E— 2B @ -E# =\ ) —fz 36. 39 3 2:05.44
6. dtiEE 200 (H: ME 0 -3 M- 0 -®EH % -TFA &= ) — % 33.93 5 2:09.59
1. £ & 160%% (=8 Fi  -#E £A -LZ@E ®  -BHR H— ) —he 33.15 4  2:05.86
8. £ #& 1608 (Lo #%=F -@8$ Bk B8 WMH 0 -BE EE ) —fz 31. 41 1 2:03.44




No. 24 BF 4x50m A FL—YL— B A LRBE

)y L—iER

6 #8 F—ikE EE B R
1.8 #0 1603 (K& A AL B2 -Hs KA - EH#E R=H ) —fz 30. 67 6 1:55.40
2. B B 160%% (il igA -ERR—8 -WE WM& MR %) —hs 29. 86 3  1:53.25
3. 1605 (Ee ®E= -ZEE FB  -FE BAS  -EXE 0B ) —hg 27.78 2 1:50.95
4. wE| 1605 (f Ht  -Fn HE -5E B -KE OB ) —fz 28.22 1 1:49.48
5 F W 160%% ( . . . ) —fg E-4
6. F =T 1603 (E# #nE @A St - #B#F BA KRB BE ) — s 30. 49 5 1:54.94
1. % E 1603 (B st -BH RE - HF BH 0 -EH EZ ) — s 28.00 4 1:54.65
8. BB X 1608 (RE #sk  -#AK HHB - FH BE -X¥F HE ) —hs 29. 56 7 2:02.29
748 E—ikE &IE =3
.= B 1605 (BR =t  -dE =X -EE MK -EE B= ) —he 32.20 5483
2.5 B 1608 (AR B -® Z—8 -&SEAKE  -thE FB ) — % 31.05 4 2:02.31
3. & W 1605 (AR m&E - BEOEAES - 23 & =#H ) — e 29. 37 2  1:58.06
4. B = 1608 Gkl ® -®I % 2 -#E fm  -5F E= ) —he 32.35 3 2:01.26
5 ® = 1208% GR#& =% - AEERAE - S5H BH 0 - # E# ) —hs 35. 34 6 2:02.99
6. & %0 1205% (& Hm - kH #mhar - S0 RE - FE E— ) —fz 35.10 5 2:02.38
1. X % 1208 ORE =% -k —EF &% % -mEE-S ) —hs 32.30 1 1:57.01
8. &k 1208 (% BE  -ME KB -XR wE  -NEOE ) — % 34. 31 7 2:07.36
8 #l E—ikE &g B
1.8 M 1208 Ik R AR & -EE Bue - HNERAS ) — % 29.77 7 1:55.76
2. K& % 12055 (s 3R -5 FE - REEAE  -EE AB ) —he 28. 81 3 1:48.69
3. & 1208 (E% st - 2E - FF HE - KB £ET ) —fz 28. 88 2 1:48.32
4. ¥ E 120% (®)l #n#t - LA #t @O Et Bk BE ) — % 27.10 1 1:45.79
5 F W 1208 GAR #fr B HE - =H EAN &R OBE ) —he 29. 25 4  1:51.43
6. = #B 1208 BA #  -B% AE - H -dtE R ) — e 31.51 5 F% 4
1.5 B 1205% (Rifks  =F -RH ORE -BE =% - M &K ) —hs 29. 56 6 1:53.79
8. E & 1208 (CERAME -8 #B 2 -XH &z -FE RE ) — e 30. 39 5 1:52.29
o4l F—ikE &g B
1. &8 E 1M98% (R m¥ - WWF #wF -4AF =5 -#BH% FF ) —hs 34.09 6 2:07.81
2. % H 1198 G ¥ -#kBpt®2z 7@ &EE  -EckEH ) — e 30. 95 5 1:57.08
3. W= # 1198 GU& ®|A - WLF ®Xx -8 KX -#I omx ) —fz 27.96 3 1:49.01
4. #ZE)| M98 Grik &KX -HEW ®BZ =@ wE  -@E E® ) —he 27.87 1 1:46.23
5.5 B 1198 Gtk RE  -RA B -# == 2% #B= ) —fz 28.90 2 1:47. 11
6. ® = 11958 ( . . - ) —fg EiE
1. &% W M98 (k& &3 @ RE -®hl kK -FW OWH) —he 32.79 4  1:54.10
8. ( . . . )




